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Q1. Java is a powerful and versatile programming language that produces software for multiple

platforms,

a. State what is meant by ,laua Virtual

inclependent. Justify your answer.

. .2, '

Machhte (,|VM) iund whether
.t

b. Brie{ly discuss enurn type with suitable example.

c, State what are wra,pper cl,asses. BrieflV cxplain its advantftcs.

eftate whether the following statements are tru.-l or falsl. Justifv

r. rle'w operator is used to create both primitive types and objects.

ti. statr,c variable can not be modifi.ed.

iir. final can be used to prevent a rnethod frcim beirig overloadecl.

iv. A ciass can inherit exactly one interface.

v. uotd Rect0 is the constructor of Rect Class.

vi. l\4ethocl overriding can be performed within a singie class.

vii. Object can be created for abstract cla,ss.

it is platfbrm

l4%l

[3%]

l4%l

yOur answer.
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Q2, Repetition cause a sectiori of the program to be repeated a certain number of times'

repetition continues while a condition is true'

a. Find the output of the following Java program:

public class Test {
public static void main(String[] args) {

inti:5;
int num;

while (i >: 1)t

num: 1;

for (int j : 1; j <: i; j++){

System.out.print(num 4 "xxx" ) ;

nttm *: 2;

]
System.out.printtn0 ;

i__.!t

)

)

b. Answer the foilowing,

i. Writed'Java method called swapDr,gr,ts to accept a two-digit integer and

the number formed by swapping its two digits. I Example: input 12 w

returned as 21 ]

ii, write a Java method callecl leapYear to accept the four-digit value of a

year ancl determine whether it is a leap year or not'

c. Explain the functionality of following functions. Find the output if the value of

5.

i. int funl(int n) {
if(n :: 1)

return 0;

else

return 1 + funl(n/2));

)

1
,1

,l
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ii, void fun2(int n) {
inti:0;
if(n>1)

fun2(n-1);

for (i : 0; i < n; i**)
System.out.print((( * )) f " ");

I
J

d. Expiain the concept ercepti,on-ha'ndli,ng and briefly discuss the try-catch exception

handling mechanism in Java.

e. write Java programs to illustrate each of the following exceptions.

i. Arithmetic Exception

ii, ArraylndexOutOfBounds Exception

l5%l

[5%]

Q3' Object Oriented programming (OOP) is an appioach to organise programs. OOP is a
programrring paradigm that uses abstraction to create models basecl on the real world

:s

environment. 
.,

What is clclss and object in Java? l4%1

Trace the following two programs Testl.java anci Test2.jala and write clown the

corresponding outputs. Explain the clifference betiryeen thef,oliowing two programs,

xhich lead to different outputs. l4%l

//program Test2.jtlva

pubiic class Test2{

int a,b;

Test2(int a, int b){

this.a:a;

this.b:b;

)
public static void main(String[] args){

Test2 obj : new Test2(1,2);

System, out "println(obj. a) ;

System. out,println(obj.b) ;

a.

b.

f f program Testl.java

public class Testl{

int a,b;

Testl(int a, int b){

&-&t

b:b;

)
public static void main(Stringl] args){

Testl obj : new Testi(1,2);

System. out.println (obj . a) ;

Systenr, out, println (obj.b) ;

i
t
J
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c'Byusingsrrita}rieexamples,expiainthefbliowingtechniquesinJava'[6

i. Constructor chaining, and

ii, Constructor overloading'

d. Describe the ciifferences between statt'c and tnstance variable with the aid of suital

examPle'

e. Explain the use of keyworcis ertend's' sl'Lper) and abstract'

Allobject-oriented'proglammin8lanSuagesprovidemechanismsthathelpsboimpiemt

the object oriented modei'

a. How do the abstract classes differ irom i'nterfaces in Java Programming languai

il

class whbse attributes are encapsulated' but n

i:
t

,/t

to be includbd in the class'
'g

class rePresenting account I
3

c' State what is rneant by multt,ple znhert,tancearrd is it supportea uy J"i Justifyl

answer. 1

cl. A systeny'is required for managing data processing in a Uiiversity'l Four difle

classes in the system are Stud'ent, Course, opti,onal and Compulsory. For t

class, a methocl is required for attribute initialisation and another method to diq

summarv. The summary of a Stttd'ent instance contains \he rtame of the stucieni

his/herregi,stratzonnum'ber'ThesummaryofanOptt'onalinstancecontainsits

number and the nurnber of cred"tts. The summary for a compulsory instarrce il

ti,tte of-the moclule, rts code and the number of cred'its'

Implement the four classes in the foilowing way: I

t,optl'onalandCompulsorl,rassubclassesofacommona}:stractclassCor

whichprovidesnecessalyinterfacetoachievepo}ymorphism.

tl'opti,onaland,Compulsoryclassesmustoverridethedisplaymethod'

ttt. Stud,enf class as a concrete class'

iv.Writedowiiamainmethodtoinstantiatethenecessaryobjects.

t5

t6

Q4.

b. Assume that You have written a

to be accessed outside the ciass'

i. Explain what type of attributes and methods

ii. Demonstrate your answer 
'by defining a

attributes accountNumber and balance'


